a/d counts

counts

2000

1000

—1000

—2000

1000

500

—500

—1000

stat bits

amps (?7?)
~

03mar06 td position vs time

tds

12.6 12.8 13.0 13.2 13.4
time [secs]

13.6

o
o

=

velocity feedback versus time

‘\HHHH‘HHHT'

i

o
o

time [secs]

12.6 12.8 13.0 13.2 13.4 13.6
time [secs]
amplifier speed monitor versus time

= | : : : ~ =
= I i‘
- i
c =
e i .
— ! —
= H -
= [ .
[ L —

12.6 12.8 13.0 13.2 13.4 13.6

drive status (O—off,2—powered,1—enabled,3—fault)

o
o

12.6 12.8 13.0 13.2 13.4
time [secs]

13.6

o
o

drive current (from amp monitor)

12.6 12.8 13.0 13.2 13.4
time [secs]




03mar06 td position vs time

IR IR R L

12.64
12.64
12.64
12.64

TTTTITTTTTTTTTTT TR T E

3

i
TERRET

uas

12.63
12.63
12.63
12.63

LU LT

L FE L e L L

PP

12.62

12.62
12.62
12.62
12.62

AL

12.61
12.61

]

\
12.61

12.61
time [secs]

secs

[

drive status (O—off,2—powered,1—enabled,3—fault)

TTTTTTTTTTITT

time [secs]
time [secs]

12.60
12.60
12.60

IO T
12.60

T

TITTTT

T

velocity feedback versus time

drive current (from amp monitor)

TOTTTTITTT

T

amplifier speed monitor versus time
LU OO D)
time

12.59

12.59
\

12.59

12.59

M

T
AR AR ER R RN ERAN AN AR RN ARRARNY ANRARHAR RN RARNERRNRY ANRR RN [RARNRARR

/

mmanded ve

nuunmnmnn el AUy

12.58
12.58
12.58
12.58

T

9}
Z

td4
i

L L L LN L UL UmURNnnnmnRRnnnnnne s N RN AR RN RRRRY RN AN LA

E
;

i
;

et A

PR o

TN k=
e N
o O

,,,,::}:E:;:::: :::}::::
~ M [Q\ — (@] ~—
I

o

ERNNRNEN :;
o
&} o
o}
I

[Te)

o I}
[QV] —

LT
o

(@]
(@]
[Q\

10
12.57
12.57
0
12.57
12.57
1.5
1.0

te]

1000
—1000
—2000

1000 =—
—-1000

-0

sayoul S} yp3}s

sjunoo p/o Sjunoo

12.64

12.63

12.61

time [secs]

12.58 12.59 12.60

12.57



